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Go down two squares.

Go to the left and move forward three squares.
Go up one square.

Go to the left and move forwa rd four squares.
Go down onhe square.

Go tight one square.

Go down and move forward three squates.

Go to the right and move forward two squares.
Go down two squares.

. Go to the right and move forward two squares.
. Go down one squate.

. Go to the left and move forward four squares.

. Go down one square.

. Go to the left and move two squares.

. Go down one squate.

. Go to the right and move two squares.

Go down onhe square.

What has he got ?
Ahat! Awand! Afrog! Acat!

Réponse : a wand
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